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(5) Determine the tem brary hardness of a
sample of water, 500 ml of which require

i st

8-4ml of N/10 H,SO, for determination

(84ml is the final volume of acid
necessary, obtained after deducting the
volume of acid necessary in the blank

titration. )

What is greenhouse effect? Amongst the
gases, CO,, N,, CHy, O,, which are the

gases responsible for greenhouse effect ?

In Thermofor Process of catalytic cracking,

- whatis the catalystused ? In the production

(5)
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of aviation gasoline, alkylation of olefin by
isobutane is important. What is the catalyst
used for this reaction ? 3+3+2+2

BF; is an initiator for cationic polymeriza-
tion _ofi:‘?qbl_xtenc. Explain the mechanism
of [1') mitiation, (z) propagation and (1)
termination.

Anion exchange resin is a co-polymer of
styrene and divenylbenzene containing a
CH2N+, [CH3]2_C1‘ group attached to
phenyl group. Suggest: a method of
introduction of CH,N" (CH, ), Cl" group
in the parent polymer,
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(c) Bcnzoquinonc{is a typical inhibitor of radi-
cal polymerization. How does it act as an
inhibitor ? 4+343

()

(d)

.8. [‘

(b)
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What is chelate effect ? What is the driving
force behind this effect? Explain with an
example.

Draw the d-orbital splitting diagram for a
tetrahedral metal complex of the type

[ML, ].

What is the most commonly used catalyst
for heterogeneous, Ziegler - Natta poly-
merization ?

Stainless steel is highly resistant to corro-

sion. What is the reason behind this ?
3+2+42+3

‘CO stabilizes low formal oxidation states

of metal.” Explain. 5D

For the compound, [Co(en),Cl, ], two
geometrical isomers are possible, cis and
trans. Which of the two isomers will be
optically active ? Explain with proper dia-
grams.
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